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Hifr PN K
TV KEE AW mg/1 FrHEA97(0.0005)
KERXNTZEDILEW mg/1 RS 49(0.0005)
HIRIV L UNTZEDALE Y mg/1 RS 4(0.005)
X UTZF DS mg/1 S (0.01)
ST mg/1 S g (0.1)
Nz v 2MbE ) mg/1 &7 (0.05)
L UTZ DAY mg/1 R Ed(0.01)
T ALEY mg/1 s (0.1)
R ke 7 ==L (PCB) mg/1 f S 419 (0.0005)
[PA=1=E=t 2PN mg/1 FrHE497(0.002)
FhI7uuFL mg/1 R EA97(0.001)
/A=1=5 & mg/1 &7 (0.02)
Wil E mg/1 FrHEA97(0.002)
1,2-vranxiy mg/1 FrHEA97(0.004)
1,1-y/anxFLy mg/I &7 (0.02)
T A-1,2-V/nnF Ly mg/1 &7 (0.04)
1,1,1-Nraaxizy mg/1 FrHE497(0.001)
1,1,2-N)rmaxizy mg/1 Fr i EA97(0.006)
1,3-v7unra~y mg/1 FrHEA97(0.002)
T U7 mg/1 BrHE9(0.006)
D e mg/1 Fr i E497(0.003)
FF R HINT mg/I &7 (0.02)
NP mg/1 =97 (0.01)
L UTEDOILE Y mg/1 &7 (0.01)
1,4- A% mg/1 &9 (0.05)
SoF mg/1 s (0.1)
ESES mg/1 s (0.1)
EIKFR % 54
[ 50 DB I8 % 39
IKFBAF L PESE -/C 7.2/24.6
n—~FH o) & mg/kg <1
T —)La— b T & mm 11

() EETRE
P B (BR BT 57551375




